igenere Cipher

\"

The Vigenére cipher uses an alphabetic key that forms an index to an array of Caesar type ciphers.

You can see how this works by looking at the following example that enciphers the word CAT using

the key BED. You will see that the key (BED) causes us to first use alphabet 1, then 4 and finally 3.
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CAT is thus enciphered as DEW. Cracking this code depends on the frequency of common words;

repeated strings in the enciphered text will hint at the key length (or a multiple of it) and common

words, prefixes or suffixes. Short keys should be easier to crack due to more frequent repetition.

Vigenere Square
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